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1. Give the structure for each of the following names: (30%)
(a) cyclohexanone (b)dimethylamine (c) trans-2-butene (d) phenol
(e) pyridine  (f) chair form of cis-1,2-dimethylcyclohexane  (g) (R)-2-pentanol

(h) acetone (i) diazonium salt (j) acetoacetic acid

2. Give the product for each of the following reactions: (15%)

(1) . (2) 0 1.CH;MgBr
(CH3CH2)2CUL1 + CH3BI' —_—> >

I
RCCI 2.H;0"

Q NaOCH,
(3) CHs 5 (4) 0
Il HO OH
CHj RCR HCl

(5) B
I
Fe

3. Derive the structure for each of the following compounds based on the spectra given below:(12%)

(1) C7Hs (2)C3HsBr
"HNMR CMR
singlet, 62.1, 3H triplet, 032.6
singlet, 87.17, SH triplet, o118.8

doublet, 6134.2

4. Provide the necessary reagents for each of the following conversions: (15%)

I
OAO/ OAOH—> O/’\H
2) CQEW)_\<§H3 3)
Q — — —CH,
CHj3 CH3 HO H E> ° E>

I I
J CO,CH;, CH,0H
—— A >
U U F A i




e FLIET 2 )R TR
> 2 .

>

~F 1060 5=RER 2 (7

KN ‘ i R Fa

i * ,fi

g
i wo | 1004

5. Write a mechanism for the following reaction: (10%)

hv cl
+ Clp >

6. Classify each of the following compounds as aromatic(A), antiaromatic(Anti) or nonaromatic(N). (12%)

N
+ —=
A Q) +
_—
7.Which reaction of the following pairs will take place more rapidly? (6%)

cHs
/
Cl
></\ (CH3),CHS ></\ /<
cl S




